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5|HiEfiC R EEEREE 0.310] A 32,800 10,168 32,800 10,168 0.000 0
6| FfiiE R EHEEEREE 0.220] A 29,000 6,380 29,000 6,380 0.000 0
B 87,388 87,388 0.000 0
B fiff 1.0 HEHY 87,388
EEANE 87,388
ZTDMIRE 0
datal (B%) BIUA LGEKE - EKE), EFETHL
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B & |REER _ _ e B NEEAHRE B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
3| FEMA RIFMTEHEEEREE 0.820[ A 51,200 41,984 51,200 41,984 0.000 0
4|3 EfB R EHEEEREE 1.250] A 40,600 50,750/ 40,600 50,750 0.000 0
5|3EMC RIFZMTEHEEEREE 2120 A 32,800 69,536/ 32,800 69,536 0.000 0
ez =] R EEEREE 2310 A 29,000 66,990[ 29,000 66,990 0.000 0
i 229,260 229,260 0.000 0
B fiff 1.0 FEY 229,260
EEANE 229,260
ZTRMBEE 0
date| (&%) BIUA LGEKE - EKE), EFIGL
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3% | BN #h T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
4 RIFMTEHEEEREE 0.450[ A 40,600 18,270| 40,600 18,270 0.000 0
5 R EHEEEREE 1.150] A 32,800 37,720/ 32,800 37,720 0.000 0
6 RIFZMTEHEEEREE 1.360] A 29,000 39,440| 29,000 39,440 0.000 0
95,430 95,430 0.000 0
B fiff 1.0 HEHY 95,430
EEANE 95,430
ZTRMBEE 0
datal (B%) BIUA LGEKE - EKE), EFETHL
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T e o % = | B B @ 28 | H | £ % EE 8
2| E{EHED RIFMTEHEEEREE 0.320 A 57,400 18,368| 57,400 18,368 0.000 0
3|EMA R EHEEEREE 0.400] A 51,200 20,480| 51,200 20,480 0.000 0
4|3ENB RIFZMTEHEEEREE 0.320[ A 40,600 12,992] 40,600 12,992 0.000 0
5|HiEfiC R EEEREE 0.210] A 32,800 6,888] 32,800 6,888 0.000 0
B 58,728 58,728 0.000
B fiff 1.0 HEHY 58,728
EEANE 58,728
ZTRMBEE 0
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B & |REER _ _ e B NEEAHRE B o= [[REesRONES)
R [EiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
2| FEHED RIFMTEHEEEREE 0.290[ A 57,400 16,646| 57,400 16,646 0.000 0
3|EMA R EHEEEREE 0.710] A 51,200 36,352| 51,200 36,352 0.000 0
4|3ENB RIFZMTEHEEEREE 1.280] A 40,600 51,968 40,600 51,968 0.000 0
5|HiEfiC R EEEREE 14700 A 32,800 48,216] 32,800 48,216 0.000 0
6| FfiiE R EHEEEREE 14700 A 29,000 42,630| 29,000 42,630 0.000 0
B 195,812 195,812 0.000 0
B fiff 1.0 43y 195,812
EEANE 195,812
ZTDMIRE 0
date| (&%) BIUA LGEKE - EKE), EFIGL
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0150 A 40,000 6,000( 40,000 6,000 0.150 6,000
* 17[ B = e R EHEEEREE 0.150] A 30,700 4,605/ 30,700 4,605 0.150 4,605
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.300[ A 24,200 7,260 24,200 7,260 0.300 7,260
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 17,865 893 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 17,865 268 0 0 0.000 0
i 19,026 17,865 0.600] 17,865
B fiff 1.0 KBy 19,026
EEANE 17,865
ZTRMBEE 1,161
datal (&%) IREEIL(16) ERILER 0.5kmKi#E 02 R & 00
6
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# 8 ERIER250m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.450[ A 40,000 18,000] 40,000 18,000 0.300[ 12,000
* 17[ B = e R EHEEEREE 0.530] A 30,700 16,271 30,700 16,271 0.360] 11,052
* 18[BI=B1F RIFZMTEHEEEREE 0.720] A 29,600 21,312 29,600 21,312 0.720] 21,312
* 19[;BI =B & R EEEREE 0.720f A 24,200 17,424 24,200 17,424 0.720 17,424
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 73,007 3,650 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 73,007 1,095 0 0 0.000 0
B 77,752 73,007 2.100/ 61,788
B 1 1.0 XHY 77,752
EEANE 73,007
ZTRMBEE 4,745
datal (&%) IREEIL(16) ERILER 0.5kmKi#E 02 R & 00
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.090] A 40,000 3,600/ 40,000 3,600 0.000 0
* 17[ B = e R EHEEEREE 0.280] A 30,700 8,596/ 30,700 8,596 0.150 4,605
* 18[;A|ZBhF RIFZMTEHEEEREE 0.560[ A 29,600 16,576] 29,600 16,576 0.310 9,176
* 19[;BI =B & R EEEREE 0270, A 24,200 6,534| 24,200 6,534 0.270 6,534
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 35,306 1,765 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 35,306 530 0 0 0.000 0
B 37,601 35,306 0.730] 20,315
B fiff 1.0 XHY 37,601
EEANE 35,306
ZTRMBEE 2,295
datal (&%) IREEIL(16) ERILER 0.5kmKi#E 02 R & 00
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R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.030[ A 40,000 1,200/ 40,000 1,200 0.020 800
* 17[ B = e R EHEEEREE 0.210] A 30,700 6,447| 30,700 6,447 0.140 4,298
* 18[BI=B1F RIFZMTEHEEEREE 0.210 29,600 6,216 29,600 6,216 0.140 4,144
* 19[;BI =B & R EEEREE 0410/ A 24,200 9,922 24,200 9,922 0.410 9,922
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 23,785 1,189 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 23,785 357 0 0 0.000 0
B 25,331 23,785 0.710] 19,164
B fiff 1.0 KBy 25,331
EEANE 23,785
ZTRMBEE 1,546
datal (&%) YRHEIL(16) HEETRRR 20m>kiEm TE30mLL E8OmKRE 0.0 #iiR & 0.0
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R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.900] A 40,000 36,000/ 40,000 36,000 0.750/ 30,000
* 17[ B = e R EHEEEREE 1.380] A 30,700 42,366| 30,700 42,366 0.750| 23,025
* 18[BI=B1F RIFZMTEHEEEREE 1.380] A 29,600 40,848| 29,600 40,848 0.750| 22,200
* 19[;BI =B & R EEEREE 22500 A 24,200 54,450 24,200 54,450 2.250| 54,450
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 173,664 8,683 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 173,664 2,605 0 0 0.000 0
5 184,952 173,664 4500 129,675
B 1 1.0 XHY 184,952
EEANE 173,664
ZTRMBEE 11,288
datal (&%) REELL(16) HEETEER 30mLL_E50mKi# 00 % & 0.0
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* 168 E FEh RIFMTEHEEEREE 0120 A 40,000 4,800/ 40,000 4,800 0.000 0
* 17[ B = e R EHEEEREE 0.240] A 30,700 7,368| 30,700 7,368 0.000 0
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.000[ A 24,200 0| 24,200 0 0.000 0
501 [ MAELHEXHE] |HMESBEIRTIEE 1.500( % 12,168 183 0 0 0.000 0
B 12,351 12,168 0.000 0
B 1 1.0 XHY 12,351
EEANE 12,168
ZTRMBEE 183
date| (fZ) IRFEIL(16) ERIEE 0.5kmEiHEm -02 ZESEMERI0m —0.2
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.090] A 40,000 3,600/ 40,000 3,600 0.090 3,600
* 17[ B = e R EHEEEREE 0.090] A 30,700 2,763] 30,700 2,763 0.090 2,763
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.180| A 24,200 4356 24,200 4,356 0.180 4,356
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 10,719 536 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 10,719 161 0 0 0.000 0
B 11,416 10,719 0.360] 10,719
B fiff 1.0 KBy 11,416
EEANE 10,719
ZTRMBEE 697
datal (&%) #E1L(3072) ERILERO0SkmEKH 0.2 R & 00
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# 8 ERER150m _ _ 1 B NERAGE B o= [[REesRONES)
R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.270] A 40,000 10,800 40,000 10,800 0.180 7,200
* 17[ B = e R EHEEEREE 0.310] A 30,700 9,517 30,700 9,517 0.210 6,447
* 18[BI=B1F RIFZMTEHEEEREE 0.430[ A 29,600 12,728] 29,600 12,728 0.430] 12,728
* 19[;BI =B & R EEEREE 0.430[ A 24,200 10,406| 24,200 10,406 0.430 10,406
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 43,451 2,173 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 43,451 652 0 0 0.000 0
B 46,276 43,451 1.250| 36,781
B 1 1.0 XHY 46,276
EEANE 43,451
ZTRMBEE 2,825
datal (&%) #E1L(3072) ERILERO0SkmEKH 0.2 R & 00
6
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.050] A 40,000 2,000/ 40,000 2,000 0.000 0
* 17[ B = e R EHEEEREE 0.170] A 30,700 5,219] 30,700 5,219 0.090 2,763
* 18[BI=B1F RIFZMTEHEEEREE 0.330] A 29,600 9,768 29,600 9,768 0.180 5,328
* 19[;BI =B & R EEEREE 0.160[ A 24,200 3,872 24,200 3,872 0.160 3,872
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 20,859 1,043 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 20,859 313 0 0 0.000 0
B 22,215 20,859 0.430] 11,963
B 1 1.0 XHY 22,215
EEANE 20,859
ZTRMBEE 1,356
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R [BiNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.020 A 40,000 800 40,000 800 0.010 400
* 17[ B = e R EHEEEREE 0.100] A 30,700 3,070/ 30,700 3,070 0.070 2,149
* 18[BI=B1F RIFZMTEHEEEREE 0.100 29,600 2,960| 29,600 2,960 0.070 2,072
* 19[;BI =B & R EEEREE 0210 A 24,200 5082 24,200 5,082 0.210 5,082
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 11,912 596 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 11,912 179 0 0 0.000 0
i 12,687 11,912 0.360 9,703
B 1 1.0 XHY 12,687
EEANE 11,912
ZTRMBE 775
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* 168 E FEh RIFMTEHEEEREE 0.340[ A 40,000 13,600| 40,000 13,600 0.280] 11,200
* 17[ B = e R EHEEEREE 0.510] A 30,700 15,657| 30,700 15,657 0.280 8,596
* 18[BI=B1F RIFZMTEHEEEREE 0510 A 29,600 15,096] 29,600 15,096 0.280 8,288
* 19[;BI =B & R EEEREE 0.830] A 24,200 20,086/ 24,200 20,086 0.830] 20,086
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 64,439 3,222 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 64,439 967 0 0 0.000 0
B 68,628 64,439 1.670| 48,170
B fiff 1.0 XHY 68,628
EEANE 64,439
ZTRMBEE 4,189
datal (&%) #E1L(3072) HEETIERS0mLLE 0.1 #1i% & 00
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e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
* 16[B=HEh R ERAERHEE 0.120] A 40,000 4,800/ 40,000 4,800 0.000 0
* 178 S B Afitd R ERAEHE 0.240[ A 30,700 7,368 30,700 7,368 0.000 0
* 18RI EBNF R ERAERHEE 0.000[ A 29,600 0| 29,600 0 0.000 0
* 19|BIEEB & R ERAEHE 0.000] A 24,200 ol 24200 0 0.000 0
501 (M HE R E X |MgLBEIcdd 388 1.500] % 12,168 183 0 0 0.000 0
g 12,351 12,168 0.000 0
B {f 1.0 KLY 12,351
EEAGE 12,168
ZTDMhIEE 183
data| (&%) £1L(3072) EHRER0SkmER -02 HS5#EM[ERE 10m —0.2
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.090] A 40,000 3,600/ 40,000 3,600 0.090 3,600
* 17[ B = e R EHEEEREE 0.090] A 30,700 2,763] 30,700 2,763 0.090 2,763
* 18[BI=B1F RIFZMTEHEEEREE 0.000] A 29,600 0| 29,600 0 0.000 0
* 19[;BI =B & R EEEREE 0.180| A 24,200 4356 24,200 4,356 0.180 4,356
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 10,719 536 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 10,719 161 0 0 0.000 0
B 11,416 10,719 0.360] 10,719
B fiff 1.0 KBy 11,416
EEANE 10,719
ZTRMBEE 697
datal (&%) #E1L(3079) ERIER 05kmKiE 0.2 R & 00
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.270] A 40,000 10,800 40,000 10,800 0.180 7,200
* 17[ B = e R EHEEEREE 0.310] A 30,700 9,517 30,700 9,517 0.210 6,447
* 18[BI=B1F RIFZMTEHEEEREE 0.430[ A 29,600 12,728] 29,600 12,728 0.430] 12,728
* 19[;BI =B & R EEEREE 0.430[ A 24,200 10,406| 24,200 10,406 0.430 10,406
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000] % 43,451 2,173 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 43,451 652 0 0 0.000 0
B 46,276 43,451 1.250| 36,781
B 1 1.0 XHY 46,276
EEANE 43,451
ZTRMBEE 2,825
datal (&%) #E1L(3079) ERIER 05kmKi#E 02 R & 00
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R [BliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 168 E FEh RIFMTEHEEEREE 0.050] A 40,000 2,000/ 40,000 2,000 0.000 0
* 17[ B = e R EHEEEREE 0.170] A 30,700 5,219] 30,700 5,219 0.090 2,763
* 18[BI=B1F RIFZMTEHEEEREE 0.330] A 29,600 9,768 29,600 9,768 0.180 5,328
* 19[;BI =B & R EEEREE 0.160[ A 24,200 3,872 24,200 3,872 0.160 3,872
501 [ MAELHEXHE] |HMESBEIRTIEE 5.000[ % 20,859 1,043 0 0 0.000 0
502 |#imiz B (RB X% |MELBIcHT 3EE 1.500] % 20,859 313 0 0 0.000 0
B 22,215 20,859 0.430] 11,963
B 1 1.0 XHY 22,215
EEANE 20,859
ZTRMBEE 1,356
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* 16[B=HEh R ERAERHEE 0.300] A 40,000 12,000/ 40,000 12,000 0.250 10,000
* 178 S B Afitd R ERAEHE 0.460[ A 30,700 14,122| 30,700 14,122 0.250 7,675
* 18RI EBNF R ERAERHEE 0.460] A 29,600 13,616/ 29,600 13,616 0.250 7,400
* 19|BIEEB & R ERAEHE 0.750] A 24,200 18,150/ 24,200 18,150 0.750 18,150
501 (M HE R E X |MgLBEIcdd 388 5.000] % 57,888 2,894 0 0 0.000 0
502 | MR8 G B2 Mg LB 2584 1.500] % 57,888 868 0 0 0.000 0
B 61,650 57,888 1.500| 43,225
B fiff 1.0 Ky 61,650
EEAGE 57,888
ZTDMhIEE 3,762
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